
FV = PV (1 + i)n  

  

ROE = EAT/E 
ROA = EBIT/A 
ROS = EBIT/S 
 

 
 

 

current ratio = current assets/current 
liabilities  
quick ratio = (current assets-
inventories)/current liabilities  
cash ratio = cash/current liabilities  
 

 
 

 

asset turnover = sales/total assets  
fixed asset turnover = sales/fixed assets  
inventory turnover = sales/inventory  
receivables turnover = sales/receivables  
 

 
 

 

debt ratio = debt/total assets  
D/E ratio = debt/equity  
equity multiplier = total assets/equity  
 

 
  

M/B ratio = market price per share/book 
value per share  
 

 
  

P/E ratio = market price per share/earnings 
per share  
 

 
  

 

 

Preview from Notesale.co.uk

Page 1 of 1


